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Direction Find the answer throughly (13 marks)
1. Speed and time diagram with a moving object in straight line. Find *
A. total distance
B. total displacement
C. average, total speed
D. average, total velocity

E. acceleration in 1 and 7 second

vV (m/s)
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solution
A. The total distance can be found from all area of the diagram. (Don’t calculate

the symbol.)

- The area on the diagram above X axis = S, + Sz + S4

1
=(—x 2 x 15 ) +

2
1
(—x (15 + 20) x 2 ) +
2
1
(—x 2 x 20 )
2
S e m (1
- The area on the diagram below X axis = s
1
= — x 2 x (-19)
2
S s m (2)
Answer Therefore the total distance is equal 10 .oiovirrrieireineins m (3)

B. The total displacement can be found from all area of the diagram. (Calculate

the symbol.)

Answer Therefore the total displacement is equal t0 ..ccceoivinerencenennee m (4)

Direction is as same as the motion.

C. average, total speed = ..., (5)
Answer Therefore the average total speed is equal 10 = . m/s (6)
D. average, total velocity = ..o (7)
Answer Therefore the average total velocity is equal to = .. m/s

Direction ..oooeveeeiiiieeiieeeeii (8)
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E. acceleration in 1 and 7 second

- The acceleration of 1 second, find the slope of diagram point t = 1 second
(Calculate from O to 2 second which is 1 second in between)

(0 - (-15)) m/s

Slope of diagram =
(2 -0) s
e mis” 9)
Answer Therefore acceleration in 1 second is equal 10 = . m/s
(10)

DIreCtion..ccceeee e
- The acceleration of 7 second, final the slope of diagram point t = 7 second

(Calculate from 6 to 8 second which is 7 second in between)

Slope of diagram = s (11)
S e m/s (12)

Answer Therefore acceleration in 7 second is equal t0 = .. m/s’
(13)

DIreCtioN..ee e,
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Direction Find the answer throughly (13 marks)
1. Speed and time diagram with a moving object in straight line. Find *
A. total distance
B. total displacement
C. average, total speed
D. average, total velocity

E. acceleration in 1 and 7 second

20

15
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solution

A. The total distance can be found from all area of the diagram. (Don’t calculate

the symbol.)

- The area on the diagram above X axis = S, + Sz + S4
1

=(—x2x 15 ) +
2
1
(—x (15 + 20) x 2 ) +
2
1
(—x 2 x 20 )
2
=15 + 35 + 20 = 70 m (1)
- The area on the diagram below X axis = s
1
= — x 2 x (-15)
2
= -15 m (2)
Answer Therefore the total distance is equal to 70 + 15 = 85 m (3)

B. The total displacement can be found from all area of the diagram. (Calculate

the symbol.)
Answer Therefore the total displacement is equal to = 70 + (-15) = 55 m
Direction is as same as the motion. (4)

85 m

C. average, total speed = (5)
8 s
Answer Therefore the average total speed is equal to = 10.62 m/s (6)
55 m
D. average, total velocity = (7)
8 s

Answer Therefore the average total velocity is equal to = 6.8 m/s

Direction is as same as the motion. (8)
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E. acceleration in 1 and 7 second
- The acceleration of 1 second, find the slope of diagram point t = 1 second

(Calculate from O to 2 second which is 1 second in between)
(0 - (=15)) m/s

Slope of diagram

(2 - 0) s
=75 mis (9)
Answer Therefore acceleration in 1 second is equal to = 7.5 mis”
Direction is as same as the motion. (10)

- The acceleration of 7 second, final the slope of diagram point t = 7 second

(Calculate from 6 to 8 second which is 7 second in between)

(0O - 20) m/s
Slope of diagram = ———— (11)
(& - 6) s
= ~10 m/s’ (12)
Answer Therefore acceleration in 7 second is equal to = 10 m/s2

Direction is opposite the motion. (13)
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4 oy s
AUATHNTINAMLBIAN X = S, + S5 + S

1
(—x 2 x 15 ) +

(—x (15 + 20) x 2 ) +

= N |_\[0

(—x 2 x 20 )
2

=1 + 35 + 20 = 70 m (1

2
U

¥ g .
AT NI INFIUEIUNN X

Sy

1
= — x 2 x (-15)
2

-15 m (2)

aty TUAD FEYLNNUBINITARDRARNAYINAY 70 + 15 = 85 m (3)

9. NNINTLAATINNA W FanAnT EnawlagAnagasminigfns

aaty HUAD N19N529A = 70 + (=15) = 55 m AANNWALINUNITARDRT  (4)

v g 4 42 85 m
A. AT NIUARYVDINTISLARDIAVIINNA = (5)
8 s
P 4 4
Gvash] HUAD BHFTIIURFNYYBINVTLANDRVVINNNA = 10.62 m/s (6)
g 4 4 4 55 m
3. AIHEURAYVBNINSLAREUTAYINANG = (7)
8 s
LA s A 4 4
el HUAD ATHISURALVBINTSAREUTAYTINNNA = 6.8 m/s
AFANILALINUNISANBUT (8)
1 dla dd‘
9. AMNLSTIANNAT 1 waz 7
! dla dd‘ o/
- AMHSITIANIAT 1T W19INANNENRBINTIN W 9A t = 1 s
(lneAndidoanan 0 9 2 s @Auffl 1 agqafisnansszndns 0 G 2 9)
o (O - (_15)) m/S 2
ATTHYERYBINTIN = = 75 m/s 9)

(2 - 0) s
oA | Aa PRPS = 2 A a @ A P
S1e1l HWHAB ATHLNVIAUYT 1 AR 7.5 m/s  YIANINIAEINUNTITLAABRA (10)
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